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Hosmer Lemeshow 1989 “Applied Logistic

Regression” 1989
2500
189 (4 n =189) 59
(ay; =59) 130
B
: B}

1 Race Race 1=White 2=Black 3=Other
2 Smoking Status During Period Smoke 1=Yes 0=No

3 Presence of Uterine Irritability Ui 1=Yes 0=No

Al Race
Racel,Race2 0,0 1,0 0,1
D
P 5.1.1-3
B 5.2.1~3 Q

P 5.3.1~-3 5.1.1 5.3.3



5.1.1 [ B (
racel | race2 smoke| || = D P-value
0 0 0 0.137 0.3 0.3311 0.0022
0.2 1.8174 0.1776
0.1 1.1206 0.2898
0.05 9.9453 0.0016
0 0 1 0.326 0.5 7.5638 0.0060
0.4 1.5236 02171
0.3 0.3950 0.5297
0.2 5.5991 0.0179
1 0 0 0.319 0.5 3.0917 0.0787
0.4 0.7248 0.3946
0.3 0.2717 0.6022
0.2 2.3318 0.1268
1 0 1 0.589 0.8 49335 0.0263
0.7 1.1995 0.2734
0.6 0.0427 0.8363
0.5 0.5969 0.4398
0 1 0 0.325 0.5 7.8666 0.0050
0.4 1.6071 0.2049
0.3 0.3883 0.5332
0.2 5.7306 0.0167
0 1 1 0.595 0.7 1.3588 0.2438
0.6 0.0122 0.9122
0.5 0.9617 0.3268
0.45 2.2471 0.1339
0.05
5.1.2 [ = (

racel race2

ui [ ]
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